OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT

1/ 17R=3)
HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) MR L
FBHEABEHE (HEHE)
ve B B a5t A B
= g%igg 3%?%%$¥¥E%’é REE BEN A NE (5£5HE) HHE HEH &
1[EERDKABMEIED 3020 3020 5797 8817 66% 34%
217 YILT IR 1 1 0 1 0% 100%
7o) IILEET FIL 178 15 193 87 280 31% 69%
A7V VIVBBR T ZDKAME 9 9 2 11 15% 85%
5|7 )IEE2 — (UAFIVFI)) TFIL 178 15 193 193 - -
6l7ZVIEE2 —E ROFPTFIL 0 0 0 - -
N7 o )IEE = —TFIL 6 6 1 7 19% 81%
87 ) IILEEX FIL 0 178 15 193 140 333 42% 58%
olroyo=rYI 0 108 108 5 113 4% 96%
0|l7roL4>v 113 350 3880 4343 0 4343 0% 100%
17 F MY oL 0 0 0 - -
2|7 M 7ITER 1282 611 1923 21820 25636 2384 28020 9% 91%
Bl7Ebrb=bYIL 91 91 2697 2788 97% 3%
162, 2" —FPYVERAYVTFO=MYJ 0 0 0 - -
18l7=1) v 0 0 1 1 94% 6%
2012—73I/)T5)—) 10536 1097 48138 59771 41 59812 0% 100%
2|5—73/—-1-—[2, 6—ys0O0-4— (b 840 0 841 0 841 0% 100%
YA XFIV) 72z=)0V] —3—->TF7/)—4
— [ (KNYZNAQXAFI) AT 1ZIV] ES
V=)l (Bl 7470=)0)
28|7 Y7 a—) 83 83 - -
|EHETILFIRVEVRILKRVBEROZEDIE (7 13365 7310 117159 137834 0 137834 0% 100%
WEIEDOREHNT1ODS14ETOEDRY
TDEREMICR D, )
NNTZUVFEVRUVZDILEY 124 124 1139 1263 90% 10%
33| afe 0 0 - -
M|B—AYYTFIAFIL—-3, 5, 5—KUXF 1 1 0 1 0% 100%
oosanEoi=AYYIF7Ex—h
BlAVIFLTILTER 410 410 - -
6|4V T LY 3048 3048 5 3052 0% 100%

BEHEE - TRI0EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT

(2 / 1IR=%)
HRYE HEH B (ka/ & ;5" 1449V 4HIEmg-TEQ/ ) Bt
BEEAH = (HEEHE)

18 ML RiguE &t R
5 gﬁégg 3g?§§§ . BENE N (55HE) HHE =
374, 4 —qavFaEyFryIoz /=)L (3% 4 4 0 4 0% 100%

E27x/—JLA)
W4y FOI=2— (4—X FYETTZI— 60 60 60 - -
%—1%)t$5§/$»7—#(%%571+
43" —qvyFaRFY—2—KNYT)LFOXAFI 1139 1139 1139 - -
NYZXF7=ZYR BILZILEZZIV)
RI2—AIFIYVIVFAY 0 0 0 0 0% 100%
U4 I LRV ZDIEEY 0 0 0 0 0% 100%
BlTFN=2—-[4— (6—rOO—-2—F/%H% 14 14 14 - -
YZ)IAFxY) 7z/x>] ot +—K~ (B
ZxHaky TTFI)
4710 —TFIL=0— (6—=hO—=%4&—=HKYJL) 109 109 0 109 0% 100%
=t HVFY)—TFIKRARILFIRFLT7—h
(BIETH IHRR)
BlO—IFI=0—-4—=bO7z=)b=7x=)L 877 877 - -
KRR ) FAT7—h (BILEPN)
HIN— (1 —IFILFOEL) —2, 6—-Y=+0O 299 299 299 - -
=3, 4—F2VTY (BIERVYTAXA8) V)
50|S—TFI=~AFxHbrRO-1TH-T7EEY—1 8 8 8 - -
—ALVEAFFT7—b~ (BIZEYR—b)
5112 —TFIAFH VEE 0 0 0 - -
2|tF)= (Z) —3— (N=RYTJJI—-N— {[ 480 480 480 - -
AXFI (1 =XAFIVFAIFIYTVT I/ AFY
HIVR=IV) PX/] FA4Y 7I/) T+ S
— N RIZT7S=HILT)
BI|TFILRVEY 38980 47977 4532 49856 141345 240399 381744 63% 37%
540 —ITFIN=S—1—=-XFNTOEL= (2—-F 252 252 252 - -
FY=3=FFYYIZI) KRAK/FFT—h
(BIERRAFT7HE—R)
B6|lTFLvAFT R 137 137 3400 3537 96Y% 4%
57|lTFL v s ) I—ILE/TFILI—FTIL 719 7 727 0 727 0% 100%
58|TFL v F ) I—ILE/ AFILI—FTI 23 23 23 - -

BEHEE - TRI0EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3—2 HWERRH

3/ 1IR=%)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
; EREE | MM | e | mwe | aw | W e
NITFLUYITIV 0 0 0 0 0% 100%
60|TFL w7 3 v RS 317 52 369 369 - -
61IN, N’ —IFLYER (YFAHILNIVER) 150 150 150 - -

VAV (Bl RT)
62N, N’ —TFLYER (SFFHILNRIVER) 8710 8710 8710 - -

7)b9tN,N’—I%bVEZ(9fjbw

NI UBR) EIROEEEY BlEvraE T

vyt7)
63[1, 1" —TFL V- 2,2'7eeu§:vA 602 602 602 - -

=703 K BT IT7 R 7OIRXEVY

7y R)
64[2— (4—T hF>T7xIZ)L) —2—XF)L7O 711 7 717 717 - -

EL=3—-Tx/FIoRUI)IT—FI)I RILT

koxzo7OvoR)
hlzrsyopke Ry > 0 0 0 0 0% 100%
%;,Z—Iﬁ#>7umy(%%&m7DEvy 0 0 0 - -
NI AV F U REFRIE BIRITAIF VB 5 5 5 - -

AaRBERBERVIVAIF VB 1 bRBERIE

DEEY)
TEIEE 8% 0 0 16 16 97% 3%
31 =A% =) 0 0 0 - -
BARITLRVCZDIEEY 152 152 422 574 73% 27%
B4 7vary—h7a85949 A 0 0 0 - -
K B 58966 156287 5518 187224 407994 360043 768037 47% 53%
e P 0 0 1 1 100% 0%
B2IR RV Z DKBMILEY 280 280 468 748 63% 37%
83| X 376 835 1212 2470 3681 67% 33%
85|/ ILZITITER 4 4 4 - -
86|l LYV—IL 0 32 30 62 2 64 3% 97%
87|/ 0 LARU =Y O LEEY 69 0 69 268 337 80% 20%
88|;5ME 7 O AMEEY 1 108 109 302 411 74% 26%

BEHEE - TRI0EE




OREAHEEDH I BEONRILEMEREEGHER
3. EHEIE (NR¥ERE - ENRERE - RE - BEHWEF) HOKF (KOR)
£3-2 #ERFRT

(4 / 1IR=%)
HRYE HEH B (ka/ & ;5" 1449V 4HIEmg-TEQ/ ) Bt
BEEAH = (HEEHE)

18 ML RiguE &t R
= §§§§§ ag§§§§ REE BEE JNEF (55tHE) HEHE | HEHE
9|2—-s00—-4—-—IFIFPI/—6—4Y7OF 28 28 28 - -

WPX/—=1, 3, 6=NYT7IY (BIRT7 IS
JV)
91|12 — (4—»O@A—-6—-ITFILF7I/—1, 3, 51 51 51 - -
5—RKN)FPTVU—=2—A)) PI)—2—XAF)
JOavd/=kYJI BIESTHIV)
92|4-s00-3-IFI—1=-XFI—N- [4 162 162 162 - -
— (RFTRYLFFY) RUTL] ESY—L—
5—ALEKRFHIRN FIHMILTZZVESKR)
93|12—sOO—2" —IFI—N— (2—X|IFY 26 26 26 - -
—1—=XFIITFI) -6 —XFLTEIT7=
YR (BB NSIE—IL)
aUlyooxFL v (RIEEEE=ZI) 1 1 1 - -
95|13 —sO00—N— (3—4/0@—-5—kYZ)F 332 27 359 359 - -
OXFI—2—-EYIIN) —FII7, PILIT7
, ZIo77—NY)7)AO—-2, 6—=bO-—
INS=NMILLIYY RIRZIVT VL)
%|1— ({2—[2—v00—-4—- (4—4O07 20 20 20 - -
T/xY) Jx=)] —4—AFNL—-1, 3=V
FFVYS=2—4)} XFI) —1TH=1, 2
, A-bUTFV BRIV T /aAFV )
98|~ O O BERS 0 0 - -
100|12—s00—-2" , 6 —YIFI—N— (2— 688 688 688 - -
TARFIIFI) FERT=ZUR BIETLF
>o0—J)
101|12—s00—-2" , 6 —JITFI—N— (X 728 728 728 - -
$>x%»)7th7:UF(%%757u—»
103|11—»2o0—1, 1=Y7)40xT49 Y (B&H 579 255 2111 2945 2945 - -
CFC—142b)
104|170 7)A0Xx49 Y (MZHCFC—22) 12897 32525 1806 47228 0 47228 0% 100%
108 (RS) —2— (4—sOO0—AI b= KYIF 192 192 192 - -
*2) 7oA VEE RIEX27Ov )

BEHEE - TRI0EE



OREHAHIHEDHEHED N RILFMERIRFHHER

3. EHEIE (NR¥ERE - ENRERE - RE - BEHWEF) HOKF (KOR)
£3-2 #ERFRT

5/ 1IR=)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
5 gfégg 3%9%%%%@; . BENE N (55HE) HHE =
1M3[2—4so0p—-4, 6—EX (ZTFILT7I/) —1 1 1 14 15 93% 7%

33,5—hU79y(%%979y2u0AT
114 (RS) —2—[2— (3—#O0O07x=JL) — 42 42 42 - -
2, 3—TRF>TOEN] —2—ITFIAVY
V=1, 3=#Y RAAVYT/T77)

1154 — (2—4O007x=)L) —N—=40O~FY 272 272 272 - -
W=N—-IFI—4, 5-YeRO-—5-F%Y
—1TH=FrSY—IL—1—HIKRFHI K (B
BTV RSHINR)

117l (RS) —1—=1_5—4sO007zx=)L—4, 4— 140 140 140 - -
CSAFI—3— (1H=1, 2, 4= NYT7YJ—
W=1—=AIAF)) Rv&>—=3—F—) (Bl
2573+ —))

1M8l2— (4—»oo7zxz=)) —2— (1H-1, 4 4 4 - -
2, 4—NYTYJ=Ib—1—=A4ILAFI) ~xH
=M (BB TH=I)

124|1 — (2—=7O0a~RvyJI) —3— (1 =XF) 45 45 45 - -
;1—71:»1%»)7&7(%%05»Dy

125|170V EY 163 196 359 1292 1651 78% 22%
127|7 ookIL A 267 112 496 875 0 875 0% 100%
128700 x4 v (BI&EIEXFIV) 0 0 - -
132[{3/8L M RUZDILEY 69 0 0 69 0 69 0% 100%
132 —ThFoTFIL (BIETFL YY) a— 673 673 50 723 7% 93%

IWE/IFILI—FITET—RN)

134|BEEE E =)L 63 161 12 236 3850 4086 94% 6%
137|> 7+ 3 R 12 12 12 - -
138 (RS) —2—>7/—-N—[(R) —1— (2 24 24 24 - -

, 4—ysynoOo7z=J)L) TFII] -3, 33—
AFINTFZIR (BT 7OY XAy M)

BEHEE - TRI0EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3—2 HWERRH

(6 / 17_=Y)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
; EREE | MM | e | mwe | aw | W e
139 (S) =PI T77—YF/)—=3—TJx/)FIRY 1 12 13 13 - -

)= (1R, 38) =2, 2—UAFJ—3—
(1, 2, 2, 2=FTh370EIFIN) ¥0O
)7°|:1/\°*/j3)ba“iﬂe~>5—l\ (Bl&abZAXARNY) Y
140| (RS) —7INI77—YF/)—3—-Tx/)FINR 35 4 39 39 - -
vIN=2, 2, 3, 3—=FhSXFNLIHIOTS
Dﬁytwﬁ#Di M (BI&7zz>7O/NY
v
MMFSYR=—1— (2=2F/)—2—-X £V (3 108 108 108 - -
/7;%»)—3—1%»@&7(%%9%##
=)L
144 ;m%/ 7EEY) BERVI T VERIEERKRL, 18 139 157 872 1029 85% 15%
147IN, N=YIFIIFAAINIVES—4—20O 90 90 - -
D;;ﬁ»(%%%#&yt»72m~y%tt
148N, N—YITF)L—3— (2, 4, 6—K)XF 208 208 208 - -
W7 Z)VR)VR=)V) —1TH=1, 2, 4—}
D7V —=Il—1—hILKRFHIRK BIEgHh7zV
2 ha—JL)
149|miR bk 0 0 9 9 99% 1%
150[1, 4 —SAFHY 120 120 123 244 51% 49%
15111, 3—CAFYSY 0 0 - -
1521, 3—=YAIMNEAILFA—2— (N, N=% 729 729 729 - -
AFIVF X)) —FTaNRY (EU%?J)L&/?")
B3l vanxd—1—Tv—1, 2—YHILKRFY 8 339 347 347 - -
AIRAFL= (1RS) —Y2—F5VR—2
, 2=IUAFIIN =3 = (2—=XF)TO/NR=1—
T=)L) vyoaFansvalREyS—~ (BlE
FRhSXNYY)
154> anEo LTIV 0 0 - -
165|N— (oA )LFA) 794 I K 1 1 1 - -
15711, 2—<so00x4d > 16 16 718 733 98% 2%

BEHEE - TRI0EE




OREAHEEDH I BEONRILEMEREEGHER
3. EHEIE (NR¥ERE - ENRERE - RE - BEHWEF) HOKF (KOR)
£3-2 #ERFRT

(7 /17R=%)
WRYE Bt & (ka/ 5 5" 144948 1Emg-TEQ/ ) KL
BB = (HEEHE)
18 ML RiguE &t R
: REREE | HAAR | e | mms | oaw | N o
1%;,1—97DD1%&>(%%E&E:U?y 100 100 - -
159> 2—1, 2—vsO@TFLY 177 177 - -
161{rvoOy7)i40x49>y (RBIHCFC—12) 1230 323 2106 1243 4901 4901 - -
162[3, 5—Y2O0O0-N— (1, 1=SXF—2 36 36 36 - -
;7DE:»)&VXTEF(%%7DEﬁSP

1642, 2—<»opo—-1, 1, 1—NYzi4Ox 408 782 1190 0 1190 0% 100%
¥ (lLHCFC—123)

168[3— (3, 5—yvoOA7z=J) —N—4qV 7 1073 1073 1073 - -
AEL—-2, 4-IFFVALAIFTVYIV—-1—
HILRFHI R BIEATOPAY)

170 (RS) —2— (2, 4—-¥Y70[Q7xT=)) — 9 2 12 12 - -
3— (1TH=1, 2, 4=—RKY7YV—=L—1—4
V) Faegn=1, 1, 2, 2-7hr37)LF0
IFN=T—7) BIHT+ZIFV—))

171l (2RS, 4RS) —1—[2— (2, 4—-2% 107 107 107 - -
oO7zxzz=J)) —4-70E)L—-1, 3—U4F
YSU=2—=ANAFI] —1TH=1, 2, 4—
N)F7Y—ILRO (2RS, 4SR) —1—[2
- (2, 4=v/0@7z=)l) —4—-70FENL
=1, 3=UFFYIU—=2—A)LAFI] —1
H=—1, 2, 4-+YT7V—-ILDREEY (BIET
oE3I+Y—I)

172|3—[1—= (3, 5—-YvO@7xz=)L) —1— 242 242 242 - -
AFIITFI] —3, 4—YEERO-6—XFI
—5—7x=JL—2H—-1, 3—FFHI V-4
—Z v (EAFHTI/OXKRY)

174|3— (3, 4—yvOA7z=)) —1—X R+ 455 455 455 - -
=1 —XFIRE BI&Y=-aO0V)

175|12, 4—<s007zx/F 8 (BI&2, 4— 405 405 405 - -
DXix2, 4—PA)

1761, 1—-Yvo0O0—-1-7)40x4%> (Bl&H 1912 631 5223 7766 0 7766 0% 100%
CFC—141b)

1781, 2—Yoon7a/xy 121 121 121 - -

BEHEE - TRI0EE



OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3I—2 HEFER
(8 / 17_=Y)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)
18 ML RiguE &t R
; EREE | MM | e | mwe | aw | W e
17911, 3—<son07 ARy (B&D—D) 57626 57626 9 57635 0% 100%
181l r7oarRy+Ey 299 76 61586 61961 61961 - -
182(2—= [4— (2, 4—=yyO0ANRYYA)) —1 40 49 40 - -
, 3=UAFI-5-ESVYILFFT] T
72z/v (IEESYX>T7xV)

183(4— (2, 4—yyoOARvYA)) —1, 3— 1524 1524 1524 - -
IAFI=5—-ESVY)=4—- K LITVRJLK
+—h BIBESYL—N)

184(2, 6—vvoaARyY MY (BIE&TrAaNR 85 85 85 - -
—JLXIFDBN)

m5§0uu§y97»ju7umy(mgHCFc 4063 4063 4063 - -
—-225

186| v OO xX4y Y (BIREIEXATFLY) 10014 10014 52102 62116 84% 16%
18712, 3=y 7 /=1, 4=SFFF7VRSX) 546 546 546 - -

v (ESFT V)

188N, N—ov oAy )L7IV 0 0 - -
1L P A= e VX 4 4 - -
19111, 3—CFASv—2—qYFrIOrv@go4 1484 1484 1484 - -

v7oE)l Rla1v7OoF45Y)
15| FA4YABEO—2, 4—2007xz=)L—0 42 42 42 - -
—IFI—S—7aEIL (RIE&TOFAHRR)

197|CF A Y ABO, O—UXF)I—S—1, 2—F 379 379 379 - -
2 (ZbhFVHILERZII) TFIL BIEIZTY Y
RIFISFA V)
201|2, 4—y=—rO7z/—JL 0 0 - -
02|V EY 80 80 - -
203|17 xRy 0 0 0 - -
206IN—VTFILTI /) FA-N—XFILAIINIY 6 6 6 - -
B2, 3-YbRO—-2, 2=IUXFI—7—-R
vV [b]l 725 (BIBAINKRRILT 7 V)

207|2, 6 —Y—9—2 v )—TFI—-4-YLYV— 1 16 15 31 0 31 0% 100%
L

2082, 4—T—4—2% ) =TFIT7x/)—) 12 12 - -

BEHEE - TRI0EE



OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3—2 HWERRH

(9 / 17R=%)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)
18 ML RiguE &t R
; BN M| ose | omee | oaw | O R
209|JOoE/ 0@ xSV 66 36 162 265 265 - -
21012, 2—yJAaE—2—-Y7)F7PERP7IR 970 970 - -
212l (RS) —0, S=UAFI=FEFIKRRARIL 705 90 795 795 - -
FIRFFAT—hK BIET7EZT—b)
213IN, N=U X FILFEIFTIR 62 7 69 0 69 0% 100%
216N, N—I XFI7=1) v 0 0 0 - -
21|56 =Y XFLT7Z /-1, 2, 3—pNYUFT7V ( 150 150 150 - -
MNEFA IS5 L)
IB|VAFIT IV 1 1 0 1 0% 100%
21|12, 2= AFJ—2, 3—kRkO—1-—-RY 635 635 635 - -
V75 —T7—4)=N—[N— (2—T b
AIKRZILITFI) —N—A4 YOI T T
FEAN] —N=XFIALNT—F (BlEERY
75HhIT)
24[N, N=SXFIRFUNTIV=N—FFI R 62 1236 13995 15293 15293 - -
225 X F =2, 2, 2—NYsOO—1—-kKRO 4 4 4 - -
FOIFIERRFT—F (BIE M) 70KV
I*DEP)
22711, 17 =X F)—4, 4’ —EEYS =LA 430 430 430 - -
=ys0Y K (B&/AZ3—bMUINZT—Y
28 K)
29|V AFI=4, 4’ — (FIWb—Tz=LV) E 1418 1418 1418 - -
2 (3—FA7A77F+—b) RBIEFAT 7%
— K XFIL)
232IN, N=U A FIHRIVLT IR 8967 8967 1335 10302 13% 87%
23|12 = [ (PANFVRRT A/ FAAIN) F+] 408 408 408 - -
—2—7JxZ)UEFBETFIL BTz bhIT—b
XIEPAP)
234|2 % 0 0 0 - -
235 |2 EE D KB MG 0 0 0 - -
236|3, 5—YIA—KR—4—AV 9/ AILFFIRY 210 210 210 - -
Vb BIETAFFTZIL)
237|KEBRVZDIEEY 27 27 4 31 14% 86Y%

BEHEE - TRI0EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3—2 HWERRH

10 / 17R—=Y)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) Bt
BHAHEHE (#EHE)
ug B RiguE a5t R
; EREE | MM | e | mwe | aw | W o
2 |ERR Z{LEY 0 0 0 - -
240|2F L v 1316 1432 0 13451 16199 57320 73519 78% 22%
22| L Y RUZEDILED 32 32 650 681 95% 5%
203|514 A% V¥ 143. 6865158579(70. 80582347706 0. 4335545047]10. 35800270915(225. 2838965489 1160. 0693557|1385. 353252248 84Y% 16%
99 99 94 18 918
20412 —F A FY — ,5— SAXAFILTFT MSEeERO- 24702 24702 24702 - -
E?_1 3, 5—FF7ITIY (BT A
245|F 7 I3 0 0 0 0 0% 100%
248|F A4 Y ABEO, O—SIFI—-0— (22— VTS 2017 2017 2017 - -
OEL—6—XFIL—4—-EYIY=ZL) (Bl
AT )V)
289|FA Y ABRO, O—YTFI—-0— (3, 5, 6 124 124 124 - -
—MN)ooo—-2-EYZI) (Bl&osOLEY
HRR)
250|F 4 Y ABEO, O—YIFIN—-0— (5—7x= 71 71 71 - -
»; —AVAFFHJVI) BIZAYFHFH
v
B1FFYAEEO, O—IAFI—0— (3—XF) 1251 102 1353 0 1353 0% 100%
—4——bO7z=)V) BEZ7z=hOFFV
XIEME P)
222|FAYABO, O—IAFI—0— (3—XFI 72 4 76 76 - -
—4—XFNFATIZI) RBIEIzVFAY
XIEMP P)
255|FAT7OES 7= —FIL 0 0 0 - -
256|7h g 2 2 2 - -
257|177 a—IL (RIE&TH/ —I) 3233 0 3233 3233 - -
258|1, 3, 5, 7T—-F S7H¥RNYT O[3, 3 0 293 293 53 346 15% 85%
1.1 (3, 7)1 5hY (BAFHAFL
VT hSIV)
229|F NSITFILFISLAVZRILT 4 R BIZTRIL 0 0 0 - -
T4 T L4)
2607 bS5 poOqv7vO=rYJL (BlgoOO% 770 155 925 925 - -
O=)LXIETPN)

BEHEE - TRI0EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT

1/ 17IR=)

HRYE HEH B (ka/ & ;5" 1449V 4HIEmg-TEQ/ ) Bt
BEEAH = (HEEHE)
18 ML RiguE &t R
; EREE | MM | e | mwe | aw | W e
61|14, 5, 6, 7—FKhS0Q04YRVYY ISV 1133 1133 1133 - -
—1 (3H) =Y BIBI7HZA4K)
262|7 hSoOQTFL YV 1000 1000 8414 9414 89% 11%
266|2, 3, 5, 6—FrST7NAA—4 —AFIAR 33 33 33 - -
vI)N= (Z) -3—- (2—-4n0o0-3, 3, 3
—k)Zix0—-1-7OR=)) —2, 2=V
AFIoOFanvALREFYS—h (BlET
28D )
268|F NSAFIFISLISZILT4 R RIELFHIS 1 580 581 27 607 4% 96%
LAXIEF S L)
270|157 L 7 4 LB 0 0 0 - -
22 8RKAME (BEEER<, ) 450 12 462 4882 5344 91% 9%
273|1 — I\“)j_-“jj/—)l/ BIB/I=IL—RFVILTIL 0 4 4 4 - -
J—JL
215| RFIVEREE S N Y U L 3295 774 39118 43187 43187 - -
276(3, 6, 9—NUTFPHHIVYFTAV—-1, 1 1= 1 1 0 1 0% 100%
TV BETISIFLIYIRVIIY)
771|N) T FIT IV 246 246 1328 1574 84Y% 16%
28[N)TFLVUF ARSIV 17 17 0 17 0% 100%
27911, 1, 11—k YysOoOxTd > 264 264 - -
280|1, 1, 2—hYysOOxTd > 26 26 - -
281|N)sooTFL Y 2136 2136 32 2167 1% 99%
282 N 1) 4 O O BERS 1 1 1 - -
285|ksoO0=-bhaxX4dy (BlgryOooEs Y V) 93401 93401 93401 - -
286| (3, 5, 6—hUsOO—2—-¥FYvi) #% 55 303 358 358 - -
JEEER (Rl MY 2 OEIL)
288| Y sOoOzAOXy Y (BIZLCFC—11) 2880 543 4491 7913 7913 - -
289|1, 2, 3—~NYpooZrOo/ v 1 1 - -
2|7 NT v, PILTw, PILIr—NY)Z)bAO— 2575 2575 2575 - -
2, 6—=Y=—hO—-N, N=o7OE)L—/1R5—
MLA42Y (BlabRYZILZY) V)
296[1, 2, 4=RNYXFIRVEY 15005 1973 203 22815 39995 46067 86063 54% 46Y%

BEHEE - TRI0EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT

(12 / 17IR—=Y)

WRYE HEH B (ka/ & ;5" 1449V 4HIEmg-TEQ/ ) Bt
BEEAH = (HEEHE)
18 ML RiguE &t R
; EREE | MM | e | mwe | aw | W e
297{1, 3, 5=RNUYXFIRVEY 5247 12354 839 17127 35567 29054 64621 45% 55%
28| LA VLT R—b 1 1 0 1 0% 100%
300{ kLT 91562 77453 8958 317513 495486 645186 1140672 57% 43%
302|Fo8 Ly 1013 291 872 239 2414 1127 3541 32% 68%
30488 0 0 0 0 0% 100%
30588 908 499 1406 860 2267 38% 62%
306[= T YIEBAFHXFL Y 0 0 0 0 0% 100%
308|= v oL 0 0 1 1 100% 0%
309|= v 7 L& 460 460 756 1216 62% 38%
33| =k syt v 550 550 - -
36|l= hORvEY 0 0 0 - -
7| =hOxs v 0 0 0 - -
318|=HmifbirkFE 0 0 6900 6900 100% 0%
3200/ =)o/ = 0 0 0 0 0 0% 100%
21|+ 2y L&Y 44 44 0 44 0% 100%
322|5° — [N, N—ERX (2—=7t&FIFF>TF 6 6 6 - -
V) PIJ] -2 — (2-70%—-4, 6-Y
55E71:»79)—4’—xh$97th7

323[2, 4—ER (ZFIVFTI/) —6—XAFIFF 2 2 2 - -
—1, 3, 5=—MY7IY BIEIARYYV)

32BER (8—F/Y /5N (BIEA £ VEEX 720 720 720 - -
X EHEER)

328|ER (N, N=IUXFIIFFHINIVE) & 0 0 0 - -
$Hh (BIEYS L)

3292 (N, N=UAFISFAAILANIVER) N 1046 1046 1046 - -
, NN —IFLYVER (FAHAINEAINFAEH
) (BIRRY H—/AX—h)

330|ER (1 —=XFI—1—TxZ)TFIL) =R 0 0 0 - -
FER

331|S, S—EZ (1 —XF)7OEL) =0-IF 159 159 159 - -
IW=FR2F-ATFFT—hr (BIEHIYER)

BEHEE - TRI0EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT
(13 / 17:—)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
N HREE: | W Rz B Erf Nt e . .
IN|MFERVZDERILEY 45 45 3020 3065 99% 1%
333l RSPV 1 1 110 111 100% 0%
336l kOx /v 3 3 0 3 0% 100%
B7|4—F=Z)—1—-oO~Fxty 0 0 - -
Mol =L 0 0 - -
MRSy 0 0 - -
ey vy 0 0 0 0 0% 100%
43l ATa—IL (Bl&aAhTa—I) 0 0 - -
M|2—7 =7/ —) 0 0 0 - -
34917/ —)L 47 47 613 660 93% 7%
3/BOIB—T T/ FIRYIIL=3— (2, 2—-240O 105 23 128 0 128 0% 100%

AE=Z) —2, 2=IXFooATONRYS
IWERFEYS—F BIBERILX MY V)
3B1|1, 3—TH4TTV 650 410 14125 15185 432 15617 3% 97%
3547 HIINBEY — I IL—TFIL 2 439 441 71 512 14% 86Y%
3B5|7FIIEEER (2—TF)ILAFTI) 87 87 0 87 0% 100%
3567 HINEE/ NI —TFIL=RVI)L 0 0 0 - -
BI2—H4—vY—TFIAI/-3 -4V 7OF 466 18 484 484 - -
V=5=-TJzxz- )7 h5ERO=-4H-1, 3,
5;%7979v—4—1>(%%77u719
v
BBIN—=4 =2+ ) —TFIL—N" — (4—-ITFIN 41 41 41 - -
JAI) =3, E=IAFINRVIERTIR
BIETT 7T /IR)
360(N— [1— (N=/ LTI —=TFILAINESIL 630 630 630 - -
) —TH=2—RVUYALIFISY)] AILIZY
X FIL (Bl )
3B17FI= (R) —2—[4— (4—->F)—2— 778 778 778 - -
Anrxz/Fy) 2z /%] FOEFF—
N (Blg/n\ORy TTFI)
362|1—49—Y % Y—TFI—-3— (2, 6 -S4V 100 100 100 - -
JOEI—4—-TJx /%271 =)l) FARE (
ME 77 yFoOY)

BEHEE - TRI0EE



OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3—2 HWERRH

(14 / 17IR—=Y)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
5 gfégg 3%9%%%%@; . BENE N (55HE) HHE =
363|5—9—vv ) —TFI—-3—- (2, 4—-/0O 376 376 376 - -

|:|—5—4‘/7°|:17J-\$/71_)|/) -1, 3, 4
—AFHTTFI—L—2 (3H) -4 (AL
FHITIYV)
3644 —>v)—TFI=4— ({[ (1, 3—IX 14 4 18 18 - -
FN=5-7z/FY—4—-ESVL) XFY
TVl TI)AFUY XFII) RUYT—h (B
Z7zoEOFT A—R)
366|y— v ) —TF)IL=k RORILAF R 400 400 - -
368|4 == ) —TFILT7/—) 0 0 0 0 0% 100%
9|12 — (4—49—Vv)=TFILITT/FY) VY 60 60 60 - -
OnFI)b=2-7AOE=)L=2)LT71v b (Bl
Z£70/8)LxXy hXIEFBPPS)
3|2 -9 —>v)—TFI—-5— (4—49—v) 28 28 28 - -
—TFIRVIINTFA) —4—-—00—-3 (2H
) —EYSFT )y (BIEEYIRY)
2IN— (94— %) —=TFI) —2—RVYIYFTY 0 0 0 - -
— VAL T TVT IR
3743 2 (b KB RV Z DKBMEE 7230 7230 15653 22883 68% 32%
376|IN—T hFo X F)—2—-v0@-2" , 6’ — 740 740 740 - -
JIFITFEINTZYR (BT O—=))
378N, N’ —7OFLYER (YFFAINI VEE 630 630 630 - -
) LENOEAY RETOERT)
379|2 —Oky—1—7—J 39 39 - -
B Z7oEyr7o0Ox89 v 84 82 365 531 531 - -
383|5—7JOE-3—tHAHVIY-—TFIL—6—XF 63 63 63 - -
)|/_17 27 37 4_7_'r‘5t|\“|:“20')5‘\/\\/—
2, 4-IF2 (R&ITOxvI)
384|1 —JmEFO/NY 2068 2068 4400 6468 68% 32%
BINFHFTUINY XA FIIFVE=ZL=70" K 54 211 486 752 3 755 0% 100%
VAFHXFLY=UAVYTTR—b 0 0 0 - -
32|/ =) —~FHF 23777 9838 234 58623 92472 79502 171974 46Y% 54%
394IRY ) LARVZDILEY 6 6 6 - -

BEHEE - TRI0EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT
(15 / 17R—)

HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) MR L
FBHEABEHE (HEHE)

18 ML RiguE &t R
= g%igg #%:%;%%E%? i BEA NE (5£5HE) HHE HEH &
395| R LA £V ZHREEDKAMLE 1 1 0 1 0% 100%
39NV ITILTE R 0 389 5009 5398 5398 - -
400(~>v 2588 16167 335 79219 98308 11663 109971 1% 89%
401|1, 2, 4—~YEY MY AILRVERT, 2 & 0 0 - -

7K#
4022 — (2—=RVYFFYIIAEFY) —=N—XF 579 579 579 - -
LWTZ7EbT=Z)R BIEATzFEY M)
403NV )V 0 0 0 - -
405(i1F 5 R AW 10204 44 7 10254 30768 41022 75% 25%
406| Ry EHET7 =)L (BI&PCB) 71 71 - -
407|RY (AF>TFLY) =7ILFILI—FI (7 8497 63056 311005 382559 860 383419 0% 100%
IWEILEDORBHEA1 2551 5FTOEDORY
ZTDEEWICRD, )
408 j_“)ub (AFYTFLY) =9 FNTzZ)LIT— 24 532 23 580 580 - -
T
409|RY) (£ TFL V) =RFTUII—FIFHE 4999 8790 54524 68313 68313 - -
IATIVF KRNI L
410 ?E’U (¥ xTFLY) =/=Z)T7z=)I—F 1006 2399 96 3501 3501 - -
AMFEILLTIVTE R 1459 1832 504 61368 65163 1444 66607 2% 98%
AR VAV RV ZDEEY 32 32 4310 4342 99% 1%
413K T 5 IVEE 0 0 10 10 99% 1%
M4l LA VB 0 0 22 22 100% 0%
45({x 557 ) ILEE 24 24 1 25 3% 97%
46| A9V YIEE2 —TFIIAFUIL 0 0 - -
NB(XHHYIEE2 — (UXFIFTI)) TFI 0 0 1 1 98Y% 2%
491X 5 YIVEE/ INTIV—TFI 0 0 - -
420{ X5 Z Y ILEEX FIL 296 100 0 396 7 403 2% 98%
4221 (Z) =2’ —XAFLTEIMNZZ/ V=4, 6— 1176 1176 610 1786 34% 66%
UAFI—2-EYITVZ)IRSYY Bl&7
TYLVY)

BEHEE - TRI0EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3I—2 HEFER
(16 / 11R—=2)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)
18 ML RiguE &t R
5 gﬁégg 3g?§§§ . BENE N (55HE) HHE =
A3 X FIVT IV 0 0 290 290 100% 0%
RAUXAFIV=AYVFFTF— b 5420 5420 5420 - -
A27IN= A FIV AV VEET —F7FIL (Bl&AIL 580 120 700 700 - -
N JILRIENAC)

A28IN—= A FIAIWNI VEE2 —HV T ) —TFIL 194 41 235 235 - -
Z72xz=) (BT /) THINTXIEBPMC)

A9\ AFII=3—-s0OQ—5— (4, 6 —IXArFD 12 12 12 - -
—2—FEYITZJALNESIRILTZ7EAIL
) —1—AFIESY—I—4—AIKRFYS5—
M (BIgZ/ANOZ)L 7OV AFI)

430|AFJ)= (S) —7—4s0OB0—-2, 3, 4a, 5 5 5 5 - -
—FhSerRO—2— [XFFPHIKRZIL (4
—kNyziAaxXkFo 7)) AILNREAIL
l4v7/7 [1, 2—el [1, 3, 41 #%Y
POV A a—ANRFYS— K (RIS VR
FHHILT)

B AFI=(E) —2— {2—[6— (2—=>7/ 424 424 424 - -
Jx/%Y) EYIYV-—A—-ALFFL] Tz
ZW} =3 =X FTToY)S—b (BIBTYVF
JZ2hakEY)

43|13 =X FI—1, 5= (2, 4—=F))) — 80 80 80 - -
1, 3, B—RYFHRYEH—1, 4-ST> (
LTI R52)

34X FIJL—N" , N —=IXAFJL—N—= [ (XFJ 7 7 7 - -
HIVIREAI)N) AFV] =1 =FAFFHLAI
T—hK (BI&AFHII)

43BIAFI)=2— (4, 6= A hFL—2-F1X3 8 8 8 - -
JoFFY) —6-[1— (X hFV13))
I?w]&>97—h(%%EU$/Nv7x%
)L

436|7IN T 7 —AFIAFL YV 0 0 - -
43| XA FIFTH LV 3 341 0 344 847 1191 71% 29%
40|11 —AFI—1—J ) ITF)=k RORILFA 0 0 0 - -

FUR

BEHEE - TRI0EE



OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT

7 / 17IR=Y)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
= gﬁé;ﬁg 32‘31%%%% REE BEE JNEF (55tHE) HEHE | HEHE
4112 — (1 =XF)LFOEN) —4, 6—=h0O 0 0 - -

J2x/)—)L
443[S = A FIL=N—= (AFIAINES )T F) 278 278 278 - -
FAT7EMM IS = BIBRAYVIIL)
A FI= (E) =X bFA43I/— (2— {[( 10 10 10 - -
{(E) =1=1[3=(bUZNFOXFI) 7
TZI] IFYFVY PIJ) AFT] AFIV}
7z=)L) 7EY—0F BlEKNY)7OF R MO
Ey)
M5(XF )= (E) =X rFVM43/ [2— (£ 288 288 288 - -
—hJIAFIAFIV) Tx=Ib] TES—h (
BEILYESLAFI)
UBIAFLVYER (4, 1—7x=LY) =4V 10 10 0 10 0% 100%
7 *—h
450[N— (6 —X hF¥—2—EYIJ) —N—=—XF 162 162 162 - -
WFAAILNRIVEBEO-—3—4—S %) —TFI
Jx=)L (BIEEY TFHILT)
45212 = X )WHA TRV FT V=)L 0 0 0 0 0% 100%
B3[E) TV RVZDILEY 92 92 0 92 0% 100%
45412 — (BINEY I OFF) RV FT7YJ =) 0 0 0 - -
455 € LR >~ 11 11 22 33 66% 34%
456|Y) AETILI =9 L 55 55 55 - -
BIYABTS AFIL=2, 2—vsOoaOE=)L (3% 749 80 829 829 - -
YU AINKRARIEDDV P)
460[Y AER N Y UL 1 1 36 37 98% 2%
B1YARERN) 7T =)L 3 3 0 3 0% 100%
=51 358895 682133 692354 854346 2587728 1641971 4229699 39% 61%

BEHEE - TRI0EE




